
  

Tableau A1 
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ce
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n

o
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b
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d
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au
 : 

0
,3

8
 -

 0
,4

 -
 0

,2
9

 -
 0

,4
2

 -
 0

,5
2

 -
 0

,7
3

 -
 0

,0
1

 -
 0

,1
 -

 0
,8

5
 -

 1
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Tableau B1
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ri

s 
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s 
n

o
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le
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1
5

5
 –

 1
7

3
 –

 1
6

1
,4

 –
 1

6
3

,4
 –
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6

1
 –
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5

8
,8

 –
 1

6
0

,6
 –

 1
6

5
,6

 –
 1

6
8

,4
 –

 1
5

3
,2
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Tableau C1

Éc
ri

s 
ce

s 
n

o
m

b
re

s 
d

an
s 

le
 t

ab
le

au
 : 

1
7 

0
0

0
 -

 1
5

 9
0

0
 -

 1
6

 1
7

5
 -

 1
5

 4
2

5
 -

 1
5

 2
0

0
 -

 1
7

 6
7

5
 -

 1
6

 2
2

5
 -

 1
6

 4
7

5
 -

 1
6

 1
2

5
 -

 1
6

 7
5

0
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Éc
ri

s 
le

s 
n

o
m

b
re

s 
si

tu
és

 d
an

s 
le

s 
ca

se
s 

gr
is

ée
s.

 



  

Tableau D1

Éc
ri

s 
ce

s 
n

o
m

b
re

s 
 d

an
s 

le
 t

ab
le
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 3
35

 7
98

 7
00

 -
 3

3
5

 8
0

1
 5

5
0

 -
 3

3
5

 8
0

3
 2

0
0

 -
 3

3
5

 8
0

5
 0

0
0

 -
 3

3
5

 8
0

8
 7

5
0

 -
 3

3
5

 8
1

2
 2

0
0

 -
 3

3
5

 8
0

2
 9

0
0

 –
 

3
3

5
 7

9
7

 3
5

0
 -

 3
3

5
 8

0
3

 5
0

0
 -

 3
3

5
 8

0
6

 6
5

0
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Tableau E1
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ri

s 
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s 
n
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 1
1

7
,4

 -
 1

2
5

 -
 1

2
8

,6
 -

 1
3

0
,2

 -
 1

3
8

,6
 -

 1
4

4
,2

 -
 1

5
3

,4
 -

 1
2

9
,4

 -
 1

3
4

,2
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